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(1) 2P RI7E bE - RS (BAT: 5 5 1)
201043 H 201143 H
H 2009447 1H H 2010447 1H EIE:B=e
% 20104:3H31H HERR H * 201143H31H ekt

B W -\@fF v AT A 1,705,587 17 % 1,652,040 16 % 97 %
F|lE O Y AT A 882,135 9 813,207 8 92
& - E ¥ VR T A 1,250,225 12 1,156,936 11 93
B EE AT A 998,632 10 1,079,355 10 108
jes B4 1% Tk 583,636 6 751,387 7 129
mo B M B 1,249,327 12 1,408,153 13 113
kA= ET 4T VAT A 638,828 6 737,901 7 116
= I N SV NI A R 2 754,889 7 809,852 8 107
TUBNAT 47 - RAEKER 929,258 9 951,596 9 102
G @ ¥ — v = 419,650 4 372,981 4 89
Z D ftt 763,665 8 767,463 7 100
AR G 10,175,832 100 10,500,871 100 103
ST < R O N - S 1,207,286 — A1,185,064 — —

= G 8,968,546 — 9,315,807 — 104

B W -\@fF v 2T A 94,592 41 % 98,641 22 %| 104 %
wlE v A2 T A 22,075 9 22,022 5 100
& ¥V AT A 42,086 18 39,952 9 95
B EE AT A A5,218 A2 37,284 8 —
Eqe: B4 & ik 17,649 8 49,192 11 279
mo o M B 44,412 19 84,506 18 190
*—bET 4T VAT L Ab5,486 A2 23,791 5 —
Hlzv A= T RNA2R 1,149 0 43,652 10 —
TUHNAT 4T« RA AR AT,206 A3 14,949 3 —

& @ oY — v X 8,518 4 14,255 3 167
W= » fth, 19,423 8 28,930 6 149
7N 7t 231,994 100 457,174 100 197
ST S R O N - S 29,835 — A12,666 — —

a ) 202,159 — 444,508 — 220
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MR EH B SE Y ERT(6501)
Rk 234E3 A # TS

(2) BN -t bs (BT 5 7 1)
201043 A 19 20114F3 7 19
B 2009444 1H B 20104E4H 1H AT
£ 2010431 31H FERR H = 2011431 31H FERk L
o U s = 5,313,790 59 % 5,269,259 57 % 99 %
7 g T 1,699,071 19 2,073,756 22 122
it P/S 729,698 8 781,139 8 107
PR M 824,697 9 760,011 8 92
O ft o H 401,290 5 431,642 5 108
w4 w2 B & 3,654,756 41 4,046,548 43 111
= i 8,968,546 100 9,315,807 100 104
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